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Answer each question briefly. 
1) What is TFR? It is Total Fertility Rates
2) In theory, how many children would each monogamously married couple have in order to achieve Zero Population Growth? 2
3) In reality, the average TFR it takes to replace each generation completely is what? 2.1 and 2.2
4) In countries with low life expectancies, what is the average TFR needed to replace each generation? 2.2-3
5) What is the average age of women who bear children? 15-49
6) What happens in countries with a large number of women entering the reproductive age? The population will increasing in a large number
7) What happens if the number of children is unusually large in one generation? Then the population will be increasing
8) What is a population pyramid? It is a graph that is representing the population in a generation.
9) Describe the shapes of the two population pyramids in the reading:
- The Indian population pyramids is increasing and increasing, so it is shaped like a pyramid, but the France population pyramid is stabile so it isn’t really like a pyramid
10) Briefly describe what each of the shapes of the pyramids above mean:
- The Indian population pyramid is looks like a right pyramid because it is increasing and increasing every year, and it is always increasing because many indian girl are bearing their child while they are still young.

